2OEM0 SSIHE

Coffee Machine System
[T5]

- System Test

201213189 HiAMF
201311306 O|%XIS
201511266 H{E23]
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Changed

Features

- Features To Be Tested

— Features Not To Be Tested
Test

— Test Identification

- Test Item (Input/OutPut)

— Test Result

Q&A
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Changed

SRS VER 3.0

- Data Dictionary

e R

ojo

INT(EAS:0 . &

1)

HA 2R

ajo

1)

TS0,

AUl ollek Al2k

INT(0Z falseZ Z17).
(2:ZX 4X2|2 28 2= A22 7H)-

s Y INT

IE =5 T/F

HH &2 T/F
HI ofler Al2t T/F, INT
A Ol Al2t T/F, INT

< Before >

24 ollef AlZE

NT(02 false2 Z}H).

(Z:X 4XIE|2 o = A2E 7HH).

< After >
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01 Changed

02 Features

03 Test

04 Q&A

Changed

SRS VER 3.0

- Process Specification

Reference Mo.

(%]
L

< Before >

Reference Mo.

Name 2525
Input ENABLE, DISABLE
Output =& O
Process Description TEF EQIE %= 0l= AF|E 2X|85H= T2 M~
Reference Mo. 213
=12 |
Reference No. 214 MName HF
Name Mo = |
Input EMABLE, DISABLE
Input EMABLE, DISABLE
Output =3 ¥
Output % 38 ' - : may
Process Description M2t FYUE ¢+ Ul HElE FASH 224~
Process Description 0| StS =57 ®IK W27 FRSIUCHH 7| =2 S8 S0 2 38§ F2HFC,

T8 + Us SYEL O BE 0| 02 W, HWSTH22
Bote MHES Aok

[214

Name ol 2f
Input EMAEBLE, DISABLE
Qutput =X o2

Process Description

S0l =8 e 09 Ao o9t 5 3iLts sHEE2
| EE2HAHME e AlZH HHAIZHS B

< After >
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Changed

Unit Test Plan/Report

CMS_UTD_004_004 Command="currentTime=10, | Return=0
coffeeTime=10,cleanTime=0" | (F& &TH|7} HHE
ch)
CMS_UTD_004_005 Command="currentTime=10, | Return=1

coffeeTime=0,cleanTime=10"

(8271 H¥E

CMS_UTD_005_001

Command="water=1000,
density=4,

Return=7

(crush returng}

&)

CMS_UTD 005 001 Command="water=100, Return=2:
density=300"+ (MEfZF CH7|12 gis
Ct.)e
CMS_UTD 005 002+« Command="coffee=5, Return=3:
powder=0"¢ (MEfZ CH7 |2 Bt

Ch)e

density=4, (crush returngf 1,
coffee=80, powder=0, extract returngt 48 O
remove=0 ¢ =T 2 F 271X
temperature=0" ggoz Z = USE
2jaj)
CMS_UTD_005_003 Command="water=1000, Return=6
density=4, (boil returné} 2,
coffee=80, powder=1, extract returngt 48 O
remove=0 o X|F 3t & 271X
temperature=1" oz 2 5+ AUASS
ejal)

< Before >

coffee=100, remove=0"+ Ch)e
CMS_UTD 005 005« Command="powder=1, Return=1:
water=1000, density=100, | (JEf7} JIEZ ®HTH
coffee=100, remove=0, | Ch)s
temperature=0"+
CMS_UTD 005 006+ Command="powder=0, Return=1:
water=1000, density=100, | (&Ef7t FE= BT
coffee=100, remove=0, | CF)s
temperature=1"+
< After >
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Features

Featured To Be Tested

SpeclD

Description

SpeclD_000_000

AOAE TH7|, 25, oY, 284 24, 718, =& 2 HeHE 7t
xmr

SpeclD_000_001

, &= 2=, W7 HA

M
=Bk
H
rt
F 0
M
El
_|

i

T
o

e
e

SpeclD_000_002

5= om A @ B2 A 51 4

SpeclD_000_003

==
'ASHA'=300, 'S7=200, 'F5tAH'=100 22 HELCY

SpeclD_000_004

2E 982 2EE 2<>'d' 22 M

SpeclD_000_005

FI7HZ| HAHE removeE 022 HEETHT}

<Table1 Z{O|{Al>
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Features

Featured To Be Tested

SpeclD

Description

SpeclD_001_000

25 dH= = E5 RS2

SpeclD_001_001

2/85 U

A F7H sz

SpeclD_001_002

=, #5F I&= =HO &0

SpeclD_001_003

2F 214 =0 80 =0= 3

=L

<Table2 H&>

r= |

I_l

FE=1000, ¥5=100, 7IF=1)
A EHOf 2= 0F
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Features

Featured To Be Tested

SpeclD Description

SpeclD_002_000 AL FF, B4, o9 2 HEoA 289 258 + U0k
SpeclD_002_001 SRz 2 8F, 85 BEF MH7| UF 2 4 F57F QUL
SpeclD_002_002 SEE € BEE -85 BES WA UF 2 2H=%E M= gt

SpeclD_002_003

<Table3 25>
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01 Changed

02 Features

03 Test

04 Q&A

Features

Featured To Be Tested

SpeclD Description
SpeclD_003_000 2M--7tE>FF =22 FIHEC
SpeclD_003_001 = 2 HHEFSHDY

SpeclD_003_002

SpeclD_003_003

SpeclD_003_004

SpeclD_003_005

T2 IFEUM 22 sET

10| =0{LICE

<Table4 7{IO] F==>
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01 Changed

02 Features

03 Test

04 Q&A

Features

Featured To Be Tested

SpeclD

Description

SpeclD_004_000

M2 axe|2 g0 f12] FAEs 28, ofel FAE=

[

'Z='E 20|FHCH ex) 1040 = 10:40
SpeclD_004_001 ‘B2 00~59, '='= 00~590|Ct 00002 W22 FHITHCL.
SpeclD_004_002 2ol ZHE HRLE €82 257 242 = U0
SpeclD_004_003 Ol2f2 00:00~59:59 AtO[2| A|ZtECH FHE= ZE HHTHD 2l
o, 4 o|F2] A== WYsteE A, = 59500 05058 O
1l

<Table5 0f|2F>




AZER0 St IHE

01 Changed

02 Features

03 Test

04 Q&A

Features

Featured To Be Tested

SpeclD Description
SpeclD_005_000 Higs B 500ml7t 22 EICH
SpeclD_005_001 Ba0& 10=7F Z2LCL

<Table6 ZHA>

speclD

Description

SpeclD_006_000

o oAl 2k2 HEEIA =L

SpeclD_006_001

Z=18 23 B 072 A" EL

<Table7 XZ>




ATEQ0f S8t THE

01 Changed

02 Features

03 Test

04 Q&A

Features

Featured To Be Tested

SpeclD

Description

SpeclD_007_000

SpeclD_007_001

SpeclD_007_002 QR RlE A% 2RE =T
SpeclD_007_003 24, 718, &, 2 HEg F2, A J4FE2 SOt

<Table8 CI|AZd|0]>
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Features

Featured Not To Be Tested

- Sensors

- Water Sensor
- Coffee Sensor
- 7}5 Sensor

- Data Gathering
- ©t& Hlo|E Hgt

— Interface

IDe NAME«~ Description«

1.1¢ =523 Interfaces | 100ml, 200ml, 300ml EEE The HETHCH.

1.2¢ ZE 23 Interfaces | E/22 Tt FETHCL-

1.3« =2 % Interfaces =2 HE TFE T FUSiChs

14¢ HAEHZE Interfacer | 5 EE ZFE Che FHUYSHCL.

1.5¢ F2E = Interfaces | 7}5 E= 2FE Cha TESIC.

1.6¢ HA Interfaces Ha d™ IS Chae HYSHCts

1.7+ HA02 Interfaces | AlZH B4 273 22 Tt TETCHe

1.8+ AL 02 Interfaces | AlZE AL 273 &l T HETHCL.

1.9« Button Control« dHE Controllertf Tt FE$HCLS

1.10¢ Water Sensor | & =29 &2 ZFSI0(3I=R0]), dEE HHTH
Interface~ Ct.-

111« Coffee Sensor | X} AFO| FrE ™SO GIEH ), HEE H©
Interface« CISICt -

112« = Sensor | @A AHL|7IE THE2 SEHSHOGIEL0), BEE
Interfaces ERR= g=] gl

113« Sensor Caontrols =2 S0 Controllerd]| HE oL}

Unit Test Plan_
<Table1 TestolX|¥2

Process 2|AE>
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Test

01 Changed Featured To Be Tested (Spec)

02 Features

03 Test

!

04 Q&A Test Identification & Items
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Test

Test Identification

01 Changed

02 Features

03 Test

04 Q&A

Identifier

Feature

Description

T5_CMS.STC.000

SpeclD_000_000
SpeclD_002_002
SpeclD_000_001
SpeclD_007_001
SpeclD_000_002
SpeclD_000_003
SpeclD_000_004
SpeclD_000_005

=71 AN 7tE =HE
M sig =50 gt

guE 3

—

Fal
rr

of
St
ot

£ display®
E5e =tH
A EX

oIstt,

ol

o mo A o

rir i
| o | N
=t

mn >

ot

el

T5_CMS.STC.00T

SpeclD_001_000
SpeclD_001_001
SpeclD_001_002
SpeclD_001_003

TEEVIE =ME |
EE TdsiH, EFEH
o] 7IE zof ool
K& ZelotH, Maxar
dEst dEL =
Maxit S 2 Holk|=

2elohs HZE,

o

[0 A 1r |=
mu 4o Huorr

A oo
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Test

Test Identification

T5_CMS.STC.002

SpeclD_002_000
SpeclD_002_001
SpeclD_002_003

T5_CMS.STC.003

SpeclD_003_000
SpeclD_003_001

SpeclD_004_003

T5_CMS.5TC.005

SpeclD_005_000
SpeclD_005_001

T5_CMS.STC.006

SpeclD_006_000
SpeclD_006_001

T5_CMS.5TC.007

SpeclD_007_000
SpeclD_007_002
SpeclD_007_003

Lok

m

oF
B oro

=L

SEf, Y5
8 =g
display2 E&

XI5 BoIsit
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Test

Input & Output Specification

- &0

0. ALMAl 1, BX 7, @8 3, AHI =% 4, K¢ 5, AL 6, HE 7, CIAZH0

ope, FHIOA
oo, 'FO ' o

01 Changed pol. 'E=' o=

ee2, UL oF
ep3., 'HA' oUH
ppd, 'sE' 9 = 'z ool

ees. '2L' =
eee. 'WMI| MA' U

02 Features

wE
eop. &' 2 = 'gee’ ¥LH
e
03 Test ppl. E=
| [ e N | — 1 1
oo, '=' LUHE = 'gpe' LS
1 O] = — 1 1
04 Q&A ppl, '®|F" 28 = "1p" 9H
002. '/t U
[ =] Il | -+
pe3, 'HF"' Y8 = 15p U=
003, J1E-1 2E-'d' M AL £F 4% (957 WS @ ZANM)
004, 0ot
e00. 7T G2t = (HX AlZt)s2ex' o
ee1. Ei dof' = '(HM Mzhy+zex' U
095, Hi
ove. E4 2% (9F7 LASK i THAM)
ee6. ME

@0, "pData.txt"7t &

@p1. "pData.txt"7t EX
oe7. Cl&=g0|

e00. dataStore &%

o1, 7ttt 2¢H FE2 &Y

2. wUs 28 =

St AtEiolM ZE2I3 2
SIE| St AFOlM T2 g3
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Test

Input & Output Specification

- Test Item (Input/Output)

Test Case |dentifier

Input Specification

Output Specification

T5_CMS.STC.000_000

("Button=E =,
1-=1000/ 2->100 / 3"
*current @ water =1000,
coffee=100,
remove=0)
“Button=F I|F==

powder=1,

"SI AHOEE

2 s

T5 CMS.STC.000_ 001

“Button=EZ"

S AEH - BT
1.2 285 3718

T5_CMS.5TC.000_002

"Button=0f 2

ST AEL - of o
0.A4° 184"

T5_CMS.STC.000_003

(*current : water =700,
coffee=100,

remove=1)

“Button=%& A"

powder=1,

HITRAE - RAS
B4 4o

T5_CMS.STC.000_004 “Button=5E=473" 1A 2E7h 3.
Al
T5_CMS.STC.000_005 (default=2) 2

T5_CMS.STC.000_006

“Button==C"

(*current : water =200,
coffee=100,

remove=1)

powder=1,

=AM =2

ol-

bal

¢
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Test

Input & Output Specification
- Test Item (Input/Output)

“Button=M7H7| ® A"

T5_CMS.STC.001_000

(*current : water =200,

coffee=100,

remave=0)

fal
n

F2F 1 1000ml”

o
-
0

powder=1,

“‘Button=H 4"

("Button=EF 2->-100

T5_CMS.5TC.001_000

(*current : water =200,
coffee=100,

remove=0)

powder=1,

"Button=E%, 1-=800"

bal
nu

F=F - 1000mI”

i
-

0

T5_CMS.STC.0017_001

("Button=E =,

2-= -100"

*current : water =1000,
coffee=0, powder=1,

remove=0)

"Button=E=, 2-=10"

‘T THE : 109"

-
remaove=0)

*current : water =1000,

o

=B
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Test

Input & Output Specification

01 Changed

T5_CMS.STC.004_001 { *current : water = 500, (30 F)
02 Features ‘current : water =90, coffee=70,  powder=0, | "H4 ZoIL|CH

03 Test

04 Q&A

- Test Item (Input/Output)

coffee=100, powder=0,

remaove=0)

“Button=7 | F=&"

T5_CMS.5TC.003_001

("Button="7H 7| & A"
“Button=E%, 3"

coffee=90, powder=1,

remaove=0)

“Button = AO|FE"

o =& sy

(7tE->=3)

remove=0)

“Button=0i[2F, 0"

"SI A 7202 E

T5_CMS.STC.003_002

("Button=8|7H 7| & "

"Button=2L"

*current : water =800,

A =g U

(224> 53)

remove=1)

“Button=04[2F, 1”

"SI AIZH30= fE”

T5_CMS.STC.005_000

{("Button=EF,1,1000"

*current : water = 1000,

*current : water =600,

coffee=80, powder=0,

"Button="= 4"

coffee=90, powder=0, coffee=70, powder=0,

remove=0) remove=1)

“Button = HU|FEE" " & LA
T5_CMS.STC.003_003 ("Button=FH7|H 7" Aol == U Button=5

"Button=E=,3" &2) T5_CMS.STC.006_000 cttl + 2" a2 ol =9

TR

feurrent : water =700, T5_CMS.STC.006_001 “pData A" =7 &t =5

coffee=80, powder=1, T Al

remave=0) =

T5 CMS.STC.007_000/001 Mull =7 3tH

“Button = FI|FE" T5_CMS.STC.007_002 “Button=F | =&~ = 25

T5CMSSTC.004.000 CButton=RZAZINA™ | 0= =) T5_CMS.STC.007_003 “Button=2%/2->1000" | “H4 FYULC} ==
#m == s
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Test

Test Result

= 28712] System TestE &l

28719]

A
O Oy

0719 H#mE
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Test

Test Result

o e .

[ -]
xx

T5_CMS.STC.000_000

(“Button=E%,
1-=1000/ 2-=100 / 3"

*current : water =1000,

coffee=100, powder=1,

remaove=0)

"Button=FI|=="

T5_CMS.STC.000_001

“Button=23"

o J

9 & 4o o

19 18

(F}

T5_CMS.STC.000_003

(default=2)

“Button==%"
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Test

T5_CMS.STC.000_000 ("Button=23, “H T AR - AHOFE=E
1->1000/ 2->100 / 3" FE ULy
Tes-t Resu I.t *current : water =1000,
coffee=100,  powder=1,
remove=0)

"Button=FI|=="

T5_CMS.STC.000_001 “Button=23" A AE] 2T
1.8 285 371%
01 Changed
02 Features
03 Test
00
00

04 Q&A

“Button==%"
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Test

T5_CMS.STC.000_002 "Button= 0| 2"
Test Result
01 Changed
T5_CMS.STC.000 (*current : water =700, Si T AEl - HAS
coffee=100, powder=1, UL
02 Features remave=1)

03 Test

04 Q&A
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01 Changed
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